Thanksgiving Sudoku Puzzle

FILL THE EMPTY CELLS IN THE GRID WITH THE DIGITS 1 TO 6.
EACH NUMBER MAY ONLY APPEAR ONCE IN A ROW, COLUMN
OR REGION. (3 BY 2 BLOCK).

512
b 5 6
4 7 |3 5
4|1 J A
4151213 |1 > 1354
BERE 6 3
3 1 45 6 2
5 |2 3 2 1
4 3 5
1 41613 |1
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Answers

FILL THE GRID WITH THE NUMBERS 1 TO 6 IN SUCH THAT
EACH NUMBER APPEARS ONLY ONCE IN EACH ROW, COLUMN
AND REGION (3 BY 2 BLOCK).

613 4|15 2
2 (15463
153|624
4162315
5041236
312/6(5 41
6 |4 52131 |6/2]3]|54]1
213|546 |5|1]4|2/63
4136|152 [4|5]/1]6]3 |2
512013164 [3]/6|2]1]5]4
154|623 [1[3|5]4]26
306 241115 [2/4]6(3]1]5
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